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[1] What is the perimeter of the
rectangle in terms of d?
15d

3d

What is the area of the rectangle in
terms of d?

[2] What is the perimeter of the
rectangle in terms of §?
22(

5

What is the area of the rectangle in
terms of §?

[3] What is the perimeter of the
rectangle in terms of h?

11

7h

What is the area of the rectangle in
terms of h?

[4] What is the perimeter of the
rectangle in terms of M?

em-7

am

What is the area of the rectangle in
terms of M?

[5] What is the perimeter of the
rectangle in terms of k?

5k + 3

2k +1

What is the area of the rectangle in
terms of k?

[6] What is the perimeter of the
rectangle in terms of f?
6f -2

f+3

What is the area of the rectangle in
terms of ?
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[7] What is the perimeter of the
rectangle in terms of d?

7d

2d

What is the area of the rectangle in
terms of d?

[8] What is the perimeter of the
rectangle in terms of §?
159

99

What is the area of the rectangle in
terms of §?

[9] What is the perimeter of the
rectangle in terms of h?

11h

What is the area of the rectangle in
terms of h?

[10] What is the perimeter of the
rectangle in terms of M?

4am+9

3m

What is the area of the rectangle in
terms of m?

[11] What is the perimeter of the
rectangle in terms of k?

7k -5

K+1

What is the area of the rectangle in
terms of k?

[12] What is the perimeter of the
rectangle in terms of f?
5f-2

2f +3

What is the area of the rectangle in
terms of ?
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[1] What is the perimeter of the

rectangle in terms of d?
15d

3d

What is the area of the rectangle in

terms of d?
p=2 (L-HJ) A = LW
p = ')\(lgol +3d) ‘P‘ - (‘M\(’M)
p=a(1%d) A =45d
(wli¥s®)

A

[2] What is the perimeter of the

rectangle in terms of §?
22(

50|

What is the area of the rectangle in

terms of §?
p- a(Ltw) A: LW
P =~ 2(22\, b 55) ﬁ( ) (223) (KJ)
p = 2 (379) k- oy |

(vm u.\’SL)

iP: 5“’3\

[3] What is the perimeter of the
rectangle in terms of h?

11

7h

What is the area of the rectangle in

terms of h? o
p = a2 (Lrw) A ’_ :
P:'),(Hf']k) A -(l)(?k)
|A = 77k

‘P = 2+ ll-t\rﬂ (um.‘*s")
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[4] What is the perimeter of the
rectangle in terms of M?

6m-7

am

What is the area of the rectangle in

)terms of m? "

- (Lw A= L

P~ ( A :(‘m-?)(‘-lm)

F-QGM_? 4%”\) = mt - 2%
- l(lﬂm -'_‘i’) \A i T

(um’“’&’)

[p = 20m -4

[5] What is the perimeter of the
rectangle in terms of k?

5k + 3

2k +1

What is the area of the rectangle in
terms of k?

r-a(LHJ)
p=a(Skedr k)
P = 10k + 4 ¢+ L»ki»l)

)'I,/—.'n,k + 8
A==
~ = (Sk*3)(ak )

A < 1ok*+ 5k + bk t3
\A - 1ok + 1k +?l
(ts)

[6] What is the perimeter of the
rectangle in terms of f?
6f —2

f+3

What is the area of the rectangle in
terms of f?

=2 w)
‘: : 2((:;-1 + £ +3)

= \1‘. -q,-r'kg +6

‘p =l -2]

A = W

A= (of -2) (f+3)

A = bf*~18f-2f-6
A = ef ruf-¢ |

(unb\-;“)
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[7] What is the perimeter of the
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rectangle in terms of d?

7d

2d

What is the area of the rectangle in

[8] What is the perimeter of the
rectangle in terms of §?

15(

What is the area of the rectangle in

terms of §?
=2 (L )

P=2 (\SSfQJ)
P = 303 r \‘63

terms of d?
p= 2(L+w)

‘p >2(74 4 2d)

P~ lbd ¥ 44

‘p = \%d)

A = LW

A = (34) (24)
A = ud>

QMV\\.’)’ Sz>

[F=wes)

A = LW

A = ("533(”\3)
A = |’5‘33"\

(um.‘\’ 51)

[9] What is the perimeter of the
rectangle in terms of h?

11h

What is the area of the rectangle in

terms of h?
P = 2(L+w)
p = ;z(\\k.+%)
\‘E: 22w +\b|
A = LW
A= (Ww)(8)
\A( = %%bﬂ
— (u\ni‘\'sz)
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[10] What is the perimeter of the
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rectangle in terms of M?

4am+9

3m

What is the area of the rectangle in

terms of m?
a(Ltw)

D.(L\M'\'q ‘\‘3w\)
P - 8m T + bwn

' - N-\M‘\‘“‘\
A=W

A = (Hw»-i-“l) (3~)

A = 2wl + 2Fm

Qo =

P =

\11"\5

[11] What is the perimeter of the
rectangle in terms of k?

7k -5

[12] What is the perimeter of the
rectangle in terms of f?

5f -2

K+1

What is the area of the rectangle in
terms of k?

- a (L+w)

: 2 (Fk-5+ k*))

= ik -10 + 2R +2

p = 16k - 3|

= LW
= (qk-S)(k*‘)

= #k*+r3k -6k ~S

- (U\V\\.'l'Sl)

[
A
A
A

:?\(“-\-1\4‘5\

2f +3

What is the area of the rectangle in
terms of f?

(um'\\'s"-)

P'—lof"-\-'l"-r)("‘ﬁ
lp = ll-h-F‘\'Z.

A= LW

A = (5‘4-1)(,1{4-3)

A =10ft y 15§ -ul -6

F( : lo.g‘-4\\.§—6\

(M.+>‘)



